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01 Al&H| 324,000 360,000 /36,000
OS2 ot+22(H+4H]) JHIA
3,000,000 *36IH 2 108,000
Og22 ot=22 (B==&Hl) ZHIAIL
3,000,000 *36H 2 108,000
OTAATX S22 (HH=&HI) FHIAY
3,000,000 *369H 2= 108,000




SN ABHEED
3 FY2 M
CHol: BAIIZAA HE(NZHENLSEEN) (HAZ +EHLSHE) (ol 29
~ _ q 4
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
ot=22 84| - Al 2,637,050 1,585,578 1,061,472
401 AIZHIZ SO 2,637,050 1,585,578 1,061,472
01 Al&HI 2,627,590 1,579,890 1,047,700
Od==8 =2 ot=2t2 FHIAMY
400,000& *1,250m 500,000
Odt=xeld Jeddad(4=R)
15,765,000 * 19 2 15,765
Odt=Held Jsdaad(aed)
15,765,000 * 10 2 16,765
Odt=Held Jl=a=EH(0]401)
15,765,000 * 104 2= 15,765
Odt=xeld JeddEd(Us)
15,765,000 * 104 2 15,765
Odt=HMel& JsdaEH(41e)
15,765,000 * 102 16,765
Odt=Held Jl=a A (5t
15,765,000 * 19 2 15,765
Odt=EduJI2H 8 +8&89
1,300,000,000& *14] 1,300,000
OL=% o222 =Al&d & 2AS=S7ASA
400,000 *1,000m 400,000
Ott=HMelE Ste2t2 2828 X ELA
& 3,000,000 7291 2 216,000
OHs & ot=2Z CCIVEAIS EHIAY
117,000,000 *14] 117,000
03 Al 20HHI 9,460 5,688 3,772
Ott=22 FHIAY
2,627,590,0002%0. 36% 9,460
s0ED0So+=S FHIAI(FE) 266,000 1,037,500 AT771,500
= 133,000
Jl 75,000
= 58,000
401 AlZHIZL RO 266,000 1,037,500 AT71,500
= 133,000
Jl 75,000
[Ea 58,000
01 Al&H| 264,084 1,033,765 AT769,681
O7& sO0E0IS0trE EXISA
264,084,000 x14] 264,084
= 133,000
Il 75,000
o 56,084
03 AIZ=CHYI 1,916 3,73 1,819
O7& sOENS0trE EXISA
266,000,000& %0.72% 1,916
Aoke == ote2tE FHIAY 2,069,991 310,000 1,759,991




FA: Aot
B mELB2 A
o9l BAIIZAS HE(TARLTHLSHEN) (D2 LEHLSHSI) CEERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,665,000
s 404,991
401 AlEHIZL S0 2,069,991 310,000 1,759,991
= 1,665,000
= 404,991
01 Al&H| 1,665,000 307,768 1,357,232
OdotE 2242 HHISA
1,665,000,000& * 141 1,665,000
= 1,665,000
02 Zeltl 396,000 0 396,000
OdotE 2242 HHISA
396,000,000 * 14 396,000
03 AlESTHYI 8,991 2,232 6,759
QX2 =222 HYIZA
3,330,000, 000&%0.27% 8,991
St=Held SEAG(RIHEH) 961,614 1,858,000 8%, 386
= 371,000
Il 401,000
= 18,500
[Ea 171,114
401 AIEZHIX S0 961,614 1,858,000 896,386
= 371,000
Jl 401,000
s 18,500
s 171,114
01 Al&HI 790,500 1,851,311 21,000,811
OISt Z3ot=HelAlE SEA
790,500,000& x14] 790,500
= 371,000
Il 401,000
= 18,500
02 2/l 167,000 0 167,000
OISt ZBot=HelAlE SEA
167,000,000 * 14| 167,000
03 Al 2 HHI 4,114 6,689 A2,575
OZIot BZotHelAlE SEAY
4,114,000 %14] 4,114
StZ2HHIAG (S22 FHI(22H)) 693,000 357,000 336,000
= 100,000
Jl 493,000
Ea 100,000
401 AIEHIX R0 693,000 357,000 336,000
= 100,000
Il 493,000




FA: Aot
B mELB2 A
o9l BAIIZAS HE(TARLTHLSHEN) (D2 LEHLSHSI) CEERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 100,000
01 AlZ2H| 651,634 354,429 297,205
Oretz =222 FHIAFG (2EHH)
651,634,000 x14] 651,634
= 100,000
Jl 493,000
Ea 58,634
02 Zeltl 37,000 0 37,000
OFQHR =22 HHIA (28
37,000,000 *14! 37,000
03 Al 20HHI 4,366 2,571 1,795
ORI =SB HHIAY (2EHH)
693,000,000& *0.63% 4,366
St=22FHIAM (27 LY) 475,000 196,250 278,750
= 262,000
Jl 101,000
= 112,000
401 AlZHIZL S0 475,000 196,250 278,750
= 262,000
7l 101,000
Ea 112,000
01 Al&HI 471,580 194,837 276,743
OF 7 otr-2Z MEAY
471,580,000 x 14 471,580
= 262,000
Jl 101,000
[Ea 108,580
03 Al 20HHI 3,420 1,413 2,007
OF 7 otr2Z MEAY
475,000,000&*0.72% 3,420
s0E DtSot=C ARG (7,010l ER) 167,000 500,000 /333,000
= 100,000
= 33,500
= 33,500
401 AIZHIZ R0 167,000 500,000 A333,000
= 100,000
< 33,500
T 33,500
01 Al&H| 165,797 496,400 /330,603
o=, Oolutg s soEllSot+: &8
BIS AL 165,797,000 *14] 165,797
= 100,000
[ 33,500
T 32,297




SN AT
I FF2elAY
Chel: BREDIEAIS BE(TOIRAZNHSHEN) (MO +HHLSHs|H) (cre): xg)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
03 Al< = THHI 1,203 3,600 N2,397
ot=¥, 0oIMgR s0EDNSot+= &
HIZ At 167,000,000 *0.72% 1,203
St=Z2HHIAIY (SEGHE) 452,000 431,000 21,000
= 245,000
J| 102,000
s 105,000
401 AlEHIZ S 0HbI 452,000 431,000 21,000
= 245,000
Il 102,000
[ias 105,000
01 Al=H| 448,746 427,8% 20,850
OS¢&otx ofe2Z MEAS
448,746,000 2 14! 448,746
= 245,000
Il 102,000
[ias 101,746
03 A2 THYI 3,2%4 3,104 150
OS&otx ote2tZ LA
452,000,000 *0.719% 3,2%4
EHIIEAE 2 (R SENESEAH)(BHZ == 6,346,452 5,644,689 701,763
ZONESE3IA)
Il 2,441,000
T 3,905,452
EAIIZANE2E KR (Z3Y) 4,719,503 4,094,213 625,290
Il 2,440,000
s 2,279,503
201 L2 927,000 708,000 219,000
02 S2=24Hl 927,000 708,000 219,000
OXtESEot=X A e =]
14,000,000& <122 168,000
O8833ot+XilAlE HHH|
2,000,0002!* 122 24,000
OLRDBIEHIRIAIE (121 S 2004A) B 21
45,000,000 123 540,000
Ott=HelAld SE2Y d&3dd|(¢
S M) 11,000, 00094*12% 132,000
Odt=XelAld SHBEE & ADHEE 2
SE(21002) 2,000,000 *2190 2~ 42,000
Odtr2t2 21Z8E+(2114)
1,000,000& #2104 2 21,000
307 212t01d 3,044,503 3,033,213 11,290
Il 1,770,380
= 1,274,123
05 glzt?(& = 3,044,503 3,033,213 11,290




SN MBS
ZH: FH4LB2 A
Pl BIIRAIM 2H(HOR 2ENLSE|H)(RoHR +EIHESE3]H) (69 =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O33ot=HMelAle 2SEASZHI(SY) 3,044,503
~BIBAHEIAL 2 AP (22
o) 1,303, 144,000 » 14} 1,303,144
) 973,130
o 330,014
—TTBLHRIAIL 2 232
&) 163,601,000 * 14| 163,601
Jl 100,000
2 63,601
—DTEIEAEINE 2Y ASHI(32-2
T2 2004A) 1,577,758,000& x 141 1,577,758
Jl 697,250
s 880,508
402 2I2E X201 & 748,000 353,000 395,000
7l 669,620
T 78,380
03 2IZHRAETAIHHI 748,000 353,000 395,000
O33ot=HMelAlg AIENE(U=&HI-2&
) 748,000
—Z3ot=HelAlE AIEME tadul(3
Z-A7 2 392) 748,000,000 * 14 748,000
Il 669,620
s 78,380
ot=XelAlE 2& - XAl 1,619,232 1,543,484 75,748
101 @124H| 849 1,328 VAVY(®
M IRINZZENSE 849 1,328 A4T9
O3 &ot=Held =2A 22Y 849
—JlZ2= 78,8803 x 12 +52+23] 789
—=48l 4,000 x1Z»5& <22 40
— St 2,0003 18 x5 23] 20
201 =3 458,980 380,440 78,540
01 At2t2lt] 123,280 132,040 A\8,760
OZZo+H2E 2el Sl
8,000 x5 x152x 12 7,200
OS&Eotxeld +2A =8
120, OOO$4*473H_/.\_*2§,| 11,280
O33ot==Held 2eltls guEIH(
d) =52 85,000,000%*153 85,000
Odt=xelsHed Ad=+g
120,000& x99 #53] 5,400
Odt==k 2EXCE X SR
1,200,000 122 14,400
02 s3=gHl 335,700 248,400 87,300
Odt=k 2IEXelE g |RF|
100,000& «12& 1,200




FA: Aot
ZH: FH4LB2 A
ERl: B30 IZAIE 2E(RetzE +ENESESH) (Jetz =ZIHESEEIH) (CHe ® <)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ost= 46t &83lHI(5t%)
3,300,000& %12 3,300
Odt=X2lAlE HIIMS2 (TR S 16042)
20,000,000 «12& 240,000
Ott=HelAE SE2Y dE3dH(882
22 160HA) 4,000,000& ~12& 48,000
Odt=xelANe SHEZY & ArEE 2
S2(1602) 1,800,000 * 169K 2 28,800
OBl+RZ 2Z24(167H4)
900, 0003 *167H A 14,400
202 04| 8,000 8,000
01 =LHOLI 8,000 8,000
O=3otrxcld g2 MeEd
20,0002 x58 +80! 8,000
307 elztol & 938,403 940,716 2,313
05 2I2tRIE S 938,403 940,716 A2,313
OARSBIEHRIANL 2% FIS2bI(87Y
A Z2160HA) 938,403,000 * 14 938,403
401 AlZHIZ SO 80,000 80,000
01 AlZHI 80,000 80,000
OZItESot=xclE MS=Al2el 9
80,000,000 * 14! 80,000
402 QIF X201 & 133,000 133,000
03 2IZHRAETAI I 133,000 133,000
O33ot=HMelAlg AIERE t=aHI(88
2-A12 18A) 133,000,000 *14] 133,000
ISEN (G2l d) szl 7,717 6,992 725
Jl 1,000
s 6,717
101 21AH| 2,717 1,992 725
04 JIZtN2Z2 XS 2=+ 2,717 1,992 725
OIS&A HZMA 12 2,717
—JlEs 78,8803 x2 & x4 2 +43] 2,525
—24tl 4,000 x2S 4 U *43] 128
— St 2,0003 x2& 4L x43] 64
201 fer= 3| 5,000 5,000 0
Il 1,000
o 4,000
2 S22l 5,000 5,000 0
OoB&X FAZel(SAHXMA, II2S 2
= 2 MI)eF 8) 5,000,000 * 14 5,000
Il 1,000
= 4,000
HE A (EEY) 1,824,464 2,287,586 N463,122
= 600,000




SN MBS
M HPES2LAS (HE)
CHel: BHAD|RAI SE(TOIR LRNLSE5|H) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 542,750
s 681,714
BZIIZAE BHE (M =EMEELESINH) 1,783,641 2,246,000 A462,359
= 600,000
== 542,750
[Ea 640,891
S22 A HIAMY (&I0F2) 143,000 143,000 0
= 100,000
s 43,000
401 AlZHIZL SO 143,000 143,000 0
= 100,000
= 43,000
01 Al&H| 141,970 141,970 0
OTeR(RP4) otz AEAY
141,970,000 *14] 141,970
= 100,000
o 41,970
03 Al 20HHI 1,030 1,030 0
OTOR(LDA) FI4B2 AlLAIL
143,000,000 *0.72% 1,030
s01E OtSot== FUIAG (8Y) 150,000 603,000 453,000
= 100,000
Ea 50,000
401 AIEHIX S0HH 150,000 603,000 /453,000
= 100,000
o 50,000
01 AlZ2H| 148,920 599,201 A450,281
OblEt S0{EDISEISE SXIZA
148,920,000 * 14! 148,920
= 100,000
Ea 48,920
03 A2 CHYI 1,080 3,79 A2,719
OtlY sO0ELIS0trE 2XISA
150,000, 0002 *0.72% 1,080
s sOENSoT FUIAS(E NEABUSIIS) 819,641 1,500,000 680,359
s 407,250
s 412,391
401 Al HIZL R 0HbI 819,641 1,500,000 680,359
[ 407,250
Ea 412,391
01 Al&HI 814,500 1,494,600 680,100
OZs s0E0tSdsE EXI3AHE X
AZUEII3) 814,500,000 x14] 814,500
= 407,250




SN MBS
M HPES2LAS (HE)
CHel: BHAD|RAI SE(TOIR LRNLSE5|H) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 407,250
03 AlESTHYI 5.141 5,400 A259
ONE S0E0IS5I4E SXBAHE XY
A2BHEIIS) 816,000,000& *0.63% 5.141
s0E DiSot=C FHIA (B ) 171,000 0 171,000
= 100,000
== 35,500
o 35,500
401 A2 HIZL 201 171,000 0 171,000
= 100,000
= 35,500
o 35,500
01 A28l 169,769 0 169,769
O S0{EDSoHE BHIZA
169,769,000 * 14! 169,769
= 100,000
= 35,500
o 34,269
03 Al 20HHI 1,231 0 1,231
OHIY S0{EDIZ5IEE BHIZA
171,000,000 0.7198% 1,231
SO0IE OtSot== ZUIAIS (EHAH) 500,000 0 500,000
= 300,000
< 100,000
[Ea 100,000
401 AlEHIZL SO 500,000 0 500,000
= 300,000
=S 100,000
s 100,000
01 AlZ8| 496,400 0 496,400
ORtt S0{EDISEISE EXIZA
496,400,000 x14] 496,400
= 300,000
=S 100,000
s 96,400
03 Al 20HHI 3,600 0 3,600
Ozt sO0IEDIS0trE EXISA
500,000, 000& 0. 72%& 3,600
EBZI AL 2(Retz SZNHSES) 40,823 41,586 AT63
2 ¥ 2+Hel 40,823 41,586 AT63
201 Ler=23 | 10,223 10,736 Ab513
01 AtR2telHl 3,000 4,000 1,000
OMlot=XelA e =E2BA ==
50,0003 2004 A 1,000




SN MBS
Hu: HESRIAY(HE)
chel: SEI|IEAM 2Y(RIotE SEINESESIHA) EERCED
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
Ot +=&Hl Q150 FAMSH(EHS R
) ESH M= 2,000,000 14 2,000
02 3324l 7,223 6,736 487
OJelstexelAld Z2 08 {2 4|
354,000& =123 4,248
OMolgtrelAld LHEREA otUE 25
850& %1, 75004 2 x23| 2,975
402 QI2ERH=0IN 30,600 30,850 A250
03 I+ ErAIA I 30,600 30,850 A250
OZ=Xel g nE3(5te%)
6,000,0002+10/100 600
Ok =8,28 Ml =25 DIZHHHAI
HI(OHQIG=HMelAlA)
50,0002 *1,2007H 2~*50/100 30,000
M 2e| 200,000 800,000 600,000
ololgl (Rt +=ZIHHSESH) 200,000 800,000 600,000
oluIBl (=ZNESLE3IH) 200,000 800,000 600,000
801 GilHIbI 200,000 800,000 A600,000
01 LBroilgl] 50,000 285,512 A235,512
OLEroglbl 50,000,000 50,000
02 THoll - "HH=Z0llHIYI 150,000 514,488 A364,488

OXHH = Z 0flH[H] 150,000,000 150,000




